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133 Whﬂl fn- th; rate of eonvergence of Haﬁtﬁﬂmﬁ@&,

case”? What is the value nfthmagmpmﬂummﬁﬁm ﬁi :
(b) In place of Newton's method, suppose we use x & x—2f(x)/,
rate of convergence of this method? What is the value o *'4 :

coefficient, 4 7 How many iterations will it take to bﬁw
expression for the answer is sufficient).

(€) In place of the method of (b), suppose we use x
iterations will it take to converge?

(d) Now suppose that f(x) = P,(x), an n" degree polynomial
above, Newton's method P!'ﬂﬂllﬂﬂﬁﬂ-mmﬂﬁ Ii_}f*i_:“ 3 “.,
convergence rate is af least quadratic.

Hint; Consider the facts
P(x) = (x-FIP(x), B(@)=?

glix) = i {I}me-ﬂ
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{i11) Mow, implement I'«lab-;.rtun’s meﬂiga numerically, starting with

IEEE double-precision standard.
Compute the first 5 numbers generated from m&-Nﬁmﬁn-"i.tﬂtaﬁunE; :

(Hint: use & =1.9287 %107 . and recall that £y u’-l:-‘;i‘ﬂlﬁﬂbﬂf’é
preeision machine).

{iv) What do you observe from part (1if)7 Explain.
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